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QUESTION 1

When granting shipping rights to a user, you select full access and leave the organization blank. What is the effect of
this setup? 

A. The user will not be granted shipping rights to any organization. 

B. The user will be granted full shipping rights to all organizations. 

C. The user will be granted view-only shipping rights to all organizations. 

D. The user will not be granted view or shipping rights to any organization. 

Correct Answer: B 

 

QUESTION 2

Select the three options available when creating the Security profile for Multi-Org Access Control. (Choose three.) 

A. View all Organizations 

B. Secure by Business Groups 

C. Secure by Inventory Organizations 

D. Secure by Operating Unit and Inventory Organization 

E. Secure Organizations by Organization list and/or hierarchy 

Correct Answer: ADE 

 

QUESTION 3

Identify two features of Value Set that has a validation type of "None". (Choose two.) 

A. It has an approved list of values associated with it. 

B. The entered values must meet the formatting requirements 

C. The Flexfield value security rules cannot be used for a segment that uses this Value Set. 

D. Users can enter any value that they want even if it does not meet formatting requirements 

Correct Answer: BC 

 

QUESTION 4

In order to group sales order lines onto a delivery when attempting to ship an order, some criteria must be the same. 

1Z0-521 Practice Test | 1Z0-521 Exam Questions | 1Z0-521 Braindumps                                2 / 3

https://www.geekcert.com/1z0-521.html
https://www.geekcert.com/1z0-521.html
https://www.geekcert.com/1z0-521.html


https://www.geekcert.com/1z0-521.html
2024 Latest geekcert 1Z0-521 PDF and VCE dumps Download

Which attribute must be the same as controlled by the shipping parameters? 

A. Order 

B. Warehouse Location 

C. Ship From Location 

D. Customer Account Number 

Correct Answer: C 

 

QUESTION 5

Which three statements are true regarding drop ship orders? (Choose three) 

A. The supplier ships to the seller 

B. Requisition import program creates the requisition. 

C. The PO is created from an approved requisition, which is then sent to the supplier 

D. Drop shipments are created as sales orders in order management with an initial source type. 

E. The purchase release concurrent program or workflow in order management creates rows in the requisition import
tables. 

Correct Answer: BCE 
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